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Question number 1
Part Mark | Answer Further Information
(a) 1 |74
(b) 1 48
Total 2
Question number 2
Part Mark | Answer Further Information
(a) 1 20 (children)
(b) 1 10O
Total 2
Question number 3
Part Mark | Answer Further Information
1 1290, 1291 or 1292
Total 1
Question number 4
Part Mark | Answer Further Information
1 179 (days)
Total 1
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Question number 5
Part Mark | Answer Further Information
(a) 1 7:50 (am)
(b) 1 1:15 pm Accept 13:15 or any other
correct alternative.
Do not accept 1:15 only.
Total 2
Question number 6
Part Mark | Answer Further Information
(@) 1 (A=)80
(B =) 250 (accept 248 — 252 inclusive)
(b) 1 Accept any mark between 3.8cm and
4.6 cm along the scale.
Total 2
Question number 7
Part Mark | Answer Further Information
1 2 hundredths 2tens 2 hundreds
Total 1
Question number 8
Part Mark | Answer Further Information
1 3 and 5 (in any order)
4
Total 1
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Question number 9
Part Mark | Answer Further Information
(@) 1 |13 x100 =130 x 10
(b) 1 260 + 10 = 2600 + 100
Total 2
Question number 10
Part Mark | Answer Further Information
1 2
Total 1
Question number 11
Part Mark | Answer Further Information
1
v
Total 1
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Question number 12
Part Mark | Answer Further Information
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Total 1
Question number 13
Part Mark | Answer Further Information
1 45x%x2
Total 1
Question number 14
Part Mark | Answer Further Information
IRORIORICE
Total 1
Question number 15
Part Mark | Answer Further Information
2 9 Award 1 mark for 1 or 2
digits correct.
Tl 6 8
Total 2
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Question number 16
Part Mark | Answer Further Information
1 0.2
1
2
0.75
l /
4
0.3
2
5
0.4
3
10
0.5
Total 1
Question number 17
Part Mark | Answer Further Information
@ 1 (-7, -6)
(b) 1 y
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Total 2
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Question number 18

Part Mark | Answer Further Information

6.5

Total 1

Question number 19
Part Mark | Answer Further Information
1 |lo2 |03| 08 13 18 |23
Total 1
Question number 20
Part Mark | Answer Further Information
(a) 1 75 (ringgits) Accept 73 — 77 inclusive.
(b) 1 100 (dollars)
Total 2
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Question number 21
Part Mark | Answer Further Information
1 ($)1.04
Total 1
Question number 22
Part Mark | Answer Further Information
1 Any of the following answers:
4.170(m), 4.171(m), 4.172 (m), 4.173(m)
4.174(m), 4.175(m), 4.176(m), 4.177(m),
4.178(m), 4.179(m), 4.180(m)
Total 1
Question number 23
Part Mark | Answer Further Information
1 40 (%)
Total 1
Question number 24 CPM
Part Mark | Answer Further Information
1 No is ticked together with a correct
explanation
e.g.
1
. —=33.3%
3
° 30% = ﬂor i
100 10
. 30% x 3 =90% but % x3=1
(or 100%)
Total 1

© UCLES 2016

0845/02/0/N/16




Question number 25
Part Mark | Answer Further Information
1 60 and 90
Total 1
Question number 26
Part Mark | Answer Further Information
(@) 1 36.6 (km)
(b) 1 22.5 (miles)
Total 2
Question number 27
Part Mark | Answer Further Information
2 Ticks the L shape Award 1 mark for sight of 32
and 34 cm without a choice
and being made.
Shows calculations giving the two or
perimeters, for example: Award 1 mark for a correct
e Perimeters are 32 and 34cm method which involves
adding all sides of the
or )
respective shapes but
Explains that both shapes have the same Icon;_alnst arltthgtlc errors
width but the L-shape is taller, for eading to a choice.
example:
e Both shapes have a width of 10cm
but the L-shape is taller
e Both shapes are the same width but
the L-shape is 1 cm taller so the
perimeter is 2cm larger than the
other shape
Total 2
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Question number 28
Part Mark | Answer Further Information
1 7
1 °1 8
~3 6 7
Total 1
Question number 29
Part Mark | Answer Further Information
1 13 (books) or 33 (books)
Total 1
Question number 30
Part Mark | Answer Further Information
1
74
/
V4
A
N
\\
Total 1
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